I’m preparing for my CMBA exams. Here are there problems that have me stumped! They resemble real-world business scenarios…so I would really like to know how to solve them. Thank you for your help.

Sincerely,

DW

1. Find the PV of an income stream which has a CFo of (-$100) per year for yrs 1-3, a CFo of (+$200) in yr. 4, CFo of (+$300) in yrs 5 – 8. The discount rate is 4% for yrs 1-3, and 5% for 4-8. All payments are end-of-yr.
a. 528.21

b. 1329.00

c. 792.49 (correct)
d. 1046.41

e. 875.18
Here is what I have attempted so far.

Calc yr 1-3, CF0=0; CF1-3(-100), @ 4%, NPV= -277.51

Calc yr 4-8, CF0= (-277.51), CF2 (200), CF3-6(300), @ 5%, NPV=926.09
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2. College Ed. saving account (SA). For 2 kids, first kid will start in 5 yrs., second in 7 yrs. Tuition cost $10,000 today, and rising 5% per yr. Tuition is paid out at beginning of yr., both kids in 4-yr programs. SA PV $50,000. Plan fixed contributions over next 5 yrs at end of each yr. with last contribution the end of year that first kid starts college. SA earns 8% per yr. How much to contribute each year to meet total tuition costs.
f. 2894

g. 3712 (correct)
h. 4125

i. 5343

j. 6750

Kathy: Here is what I have attempted so far.


Calc yr 1-10, CF0=50000, CF1-4= (0), CF5-10= (see below), @ 8%, NPV=14822.

Then I divided 14822/4=3706 for CF1-4.
	CF - In
	50,000
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	Year @ 8%
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	CF - Out
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	-12763
	-13401
	-28142
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	-16289
	-115657


Total

3. Sell inherited bonds $100,000 face value, 2% annual coupon paid 12/31 each year. Settle 
date is today – 12/13/2001, maturity date – 1/1/2022. Current similar annual coupon bonds are yielding 12%. Today, reinvest bond sale proceeds in savings account earning 10% compounded annually. Today, withdraw an amount (?) that will be equal to the account balance one year from today (i.e. withdraw two equal amounts, one today and one a year from today).
a.  13255 (correct)
b.  29708

c.  12654

d.  25305

e.  14580

Here is what I have done so far:

Calc discounted bond sale proceeds – desired YTM=12%, annual coupon=2%, settle date 12/31/2001, maturity date 1/1/2022, +accrued interest: sale price is
$25,760.

Deposit in account today (1/1/2002), $25760 paying 10% compounded annually, FV=28336, divided by 2 =14168
Calc NPV of 2 equal withdrawals:

CF0=-14168
CF1=-14168
10% interest

NPV=-13524 of each withdrawal. 
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